ANSWER KEY
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Ql.

3u+7u=10u
2u=6

7u=21




Q2)

—=7cm

1,32 14 =22
ZX,?X = cm

1 22
—-x—x14=18
4 7

perimeter = 86cm

Q3)

100% = 40
120% = 48

Q4)

18 x 3 = 54cm
4u = 48ecm
lu=12em
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Q6)

(a) QTS = 180° — 37° —37° = 106°
PT(Q = 180° — 106° = 74°
PQT = 180° — 74° — 39° = §7°
SQR =180°"—-67°=37° =76
@5R = 180° = 76° — 66° = 38°
(b} is not & is not

Q7)

1
> % 3.14 x5 x 5= 39.25cm?

1
Ex 3.14 x 20 x 20 = 314cm?
314 — 39.25 — 39.25 = 235.5cm?

Q8)

1
b= "z'ﬂf areaof x

areaof x=5x2=10
areaofc=5—-1=4
Not possible to tell

False
- True

Qg)

1
—x—x14=11lem
4 7

11+ 7 =18ecm
125-11 =114
114 —-21—-21=72cm

72

> = 36cm




1 3
Q10) SX X 8x8= 110.48cm?
(16 X 16) X 2 = 512cm?
16 x 8 = 128cm?

total = 128 + 100.48 + 100.48 + 512 = 840.96cm?

Q11) (a) 10u = $2000
3u = $600
(b) March transport = % x 2000 = $200

60
hopping = ——x 2000 = $1200
shopping =+ $
food = $2000 — $1200 — $200 = $600
April transport = $200

90
shopping = 100 % $1200 = $1080

80% = $1080 + $200 = $1280
100% = $16 x 100 = $1600

Q12) (a)60+5=15
15x 2 =30cm
(b)23+2=115
4+2=2
5+2=125
11x2x2=44

Q13) (a) AOB
(b) OBA = (180 — 90) + 2 = 45
0BC = 58
ABC =58 — 45 = 13
(C)BOC =180 — 58 — 58 = 64
AOC =90 — 64 = 26
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Q14) choco !eft:a—of1=§
putrerfeft = Lo L3
utter eft—sr—B-q_D
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Q15) (a) m:w = 23:5

23u = 46
lu=46=+23=2
Bu=16

(b)Sof M =16
men=16x3 =48
4u = 48
3u=36

Q16) (a)jerry had 6 more kaya buns = 6 X 50cents = 300cents
total dif f = 300cents + 90cents = 390cents
per dif f = 80cents — 50cents = 30cents
no.of buns = 390cents + 30cents = 13
(b) jerry =13 +6 =19
cost = 19 x 50cents = $9.50

Q17) (@) P=3x4=12cm .
jl%//,@&fffﬁ
(b)

(c) largest area = 7 X 8 = 56¢cm?




